PORT. :hager

Product Environmental Profile
Hotel card switch electronic, white glossy (essentials)

Company information References covered

Hager For the complete list of the covered references, see details in Appendix 1.

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: info@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Reference product identification Establish, support and interrupt the rated current 10A and rated voltage 230V, for a wall-mounted or
WAN7070WG enclosure / cabinet installation, according to the appropriate use scenario, and for the reference service life
of the product of 10 years.

Use scenario based on :
PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
3.15. Other Equipment - active product product.

PEP ecopassport 1/5 HAGE-01426-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others
g % ] % ] %

PC 44.24 22.6% Steel 35.60 18.2% Cardboard 42.50 21.7%
ABS 9.10 4.6% Copper 6.61 3.4% Paper 22.77 11.6%
PAG 5.04 2.6% Iron 5.14 2.6% Wood 4.66 2.4%
PE-LD 2.23 1.1% Cast iron 1.47 0.7% Glass fiber 2.27 1.2%
Epoxy resin 1.69 0.9% Other 3.23 1.6% Glass 243 1.2%
Other 2.50 1.3% Other 4.61 2.4%

Total mass of reference product with raw material 196.08 g

packaging :

Total mass of reference product
(Product + packaging)

186.42 g

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Installation Module D

o
c
B 2 8
<] 2 o 23 =
5 E - . £ £ e | 28 g
" < 2 2
= 2 o k) ° 3 3 =1 2] > o w 2
Sol| s o % = s = ° o z £ 2 T 3
c = =
g c c 2 235 55 Sg I c c 25 2% s 290 [T 88
<92 © ] c T 2 c o ] ol S8 = £ ® ® T =
IR =1 f=3 c c [ = = o = = [ oS E
29 € 2 g0 S o L = I T £ ® E® g = S 3 S > 4 1=
T Q © S 5% = 35 S o e = o o ® ] Qo 2 ] 52
= 9 ES = 2° Lo a s 2 @ 8 ] £ 3 o3 =z @ £ ) =3 @
S 3 = =1 =) T Q © c = 17} =l 5 2 = s} @ o>
L s ° = [} ° = [1'4 o8 S 5 > c T Q@ Q =7
T 5 = 5 ° 3 R 5 2 I 9] ¢ g ge @ 7} = e B o
E g € = os = oa = 14 ] SIS fa) '_2 gt c £
H a o ) o 2 [ )
T @ IS IS o JE = = 2 o ® ® oy}
x c = = 2 o < L3 o
'g ] = [} >
o o
2
S]

B3 B4

Life cycle stages

Manufacturing Distribution

These products are manufactured by a site that has received an environmental certification The packaging has been designed in accordance with current regulations. In particular,
ISO 14001. the European directive 94/62/CE relative to packaging and packaging waste.

This phase takes into account raw materials, manufacturing processes, production offcuts The used packaging is 100% recyclable or recoverable.

and their end-of-life treatment, upstream transport of materials and sub-assemblies to the Packaging and logistic flows are continuously improved in order to reduce their impact.

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including
packaging, to its place of use.

Installation
Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.
This phase only take into account the impact of the packaging waste treatment is taken account.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time

0.00623 30.0% 0 70.0% 0.27 30.0% 0.28 70.0% 0 0.0%

This corresponds to a total energy consumption of 24.43 kWh for the use span of 10 years.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

PEP ecopassport 2/5 HAGE-01426-V01.01-EN



Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 44%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.3.2-4 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation

A1-A3 A4 A5
Europe Europe

Europe

End Of Life
C1-C4
Europe

Environmental impact indicators

Indicators Unit

Acidification (PEF-AP) mole H+ eq.

Climate change - Total (PEF-GWP)

kg CO2 eq.

Climate change-Biogenic (PEF-GWPb)

kg CO2 eq.

Climate change-Fossil (PEF-GWP) kg CO2 eq.

Climate change-Land use and land use change
(PEF-GWPIu) g Coz Ry

Ecotoxicity, freshwater (PEF-CTUe)

EF-particulate Matter (PEF-PM)

diseases

Eutrophication, freshwater (PEF-Epf)

kg P eq.

kg N eq.

Eutrophication, marine (PEF-Epm)

Eutrophication, terrestrial (PEF-Ept)

mole of N eq.

Human toxicity, cancer (PEF-CTUh-c) CTUh

Human toxicity, non-cancer (PEF-CTUh-nc) CTUh

lonising radiation, human health (PEF-IR) kg Bq U235 eq.

Ozone depletion (PEF-ODP) kg CFC-11 eq

Photochemical ozone formation - human health
(PEF-POCP) kg of NMVOC eq.

Resource use, fossils (PEF-ADPf)

Resource use, minerals and metals
(PEF-ADPe)

Water use (PEF-WU)

Resource use indicators

Indicators Unit

Net use of fresh water

Total primary energy

Total non renewable primary energy

Total renewable primary energy

Non renewable primary energy used as energy

Non renewable primary energy used as raw
material

Use of non renewable secondary fuels

Renewable primary energy used as raw
material

Use of renewable secondary fuels

Renewable primary energy used as energy -

m3
MJ
MJ
MJ
kg

Use of secondary material

PEP ecopassport

Manufacturing Distribution Installation [VETY End Of Life

A1-A3 Ad ‘ A5 B1-B7 c1-ca ‘ el MocuelD
1.74E-02 5.04E-05 2.17E-04 5.17E-02 5.58E-04 6.99E-02 -4.49E-04
5.77E+00 3.19E-02 1.69E-01 9.87E+00 1.95E-01 1.60E+01 -1.63E-01
8.69E-02 1.30E-07 1.01E-01 2.18E-01 9.03E-03 4.15E-01 -9.93E-04
5.69E+00 3.19E-02 6.79E-02 9.66E+00 1.86E-01 1.56E+01 -1.62E-01
1.43E-03 4.82E-08 5.34E-10 0.00E+00 9.09E-10 1.43E-03 0.00E+00
2.34E+02 9.30E-01 9.64E-01 1.48E+01 3.05E+00 2.53E+02 -2.56E-01
1.18E-07 4.32E-10 1.28E-09 4.05E-07 5.85E-09 5.30E-07 -9.10E-09
3.02E-05 1.19E-07 9.28E-07 2.37E-05 2.40E-06 5.73E-05 -2.24E-05
3.18E-03 9.13E-06 8.78E-05 6.05E-03 1.12E-04 9.44E-03 -8.05E-05
3.58E-02 1.00E-04 6.52E-04 9.70E-02 1.23E-03 1.35E-01 -9.73E-04
4.31E-08 6.25E-12 7.38E-09 1.22E-09 2.19E-08 7.37E-08 -6.33E-10
9.06E-08 1.19E-10 2.12E-10 2.89E-08 4.24E-09 1.24E-07 -2.38E-09
4.37E+00 1.13E-03 1.01E-02 1.29E+01 7.02E-03 1.73E+01 -1.57E-03
3.99E+00 1.36E-04 2.43E-04 2.62E-01 2.03E-01 4.46E+00 -6.40E+00
2.58E-07 3.87E-10 1.01E-09 4.23E-08 1.22E-08 3.14E-07 -4.37E-09
1.10E-02 3.24E-05 1.48E-04 1.92E-02 3.54E-04 3.07E-02 -4.02E-04
1.32E+02 5.66E-01 7.08E-01 2.37E+02 1.62E+00 3.72E+02 -8.65E-01
1.01E-03 1.14E-08 3.69E-09 3.20E-06 6.33E-07 1.02E-03 -1.19E-06
1.40E+00 1.15E-03 5.92E-03 7.49E-01 2.15E+01 2.36E+01 -1.98E+01

Manufacturing Distribution Installation [VET) End Of Life

A1-A3 A4 ’ A5 B1-B7 C1-C4 | el poctielD
3.25E-02 2.67E-05 4.49E-04 1.75E-02 5.99E-01 6.50E-01 -4.84E-01
1.41E+02 5.68E-01 8.03E-01 2.92E+02 1.73E+00 4.36E+02 -1.83E+00
1.32E+02 5.66E-01 7.08E-01 2.37E+02 1.62E+00 3.72E+02 -8.65E-01
8.96E+00 1.79E-03 9.50E-02 5.55E+01 1.12E-01 6.46E+01 -9.69E-01
9.81E+01 5.66E-01 7.08E-01 2.37E+02 1.62E+00 3.38E+02 -8.65E-01
3.41E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.41E+01 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
7.74E+00 1.79E-03 9.50E-02 5.55E+01 1.12E-01 6.34E+01 -9.69E-01
1.22E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.22E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

3/5 HAGE-01426-V01.01-EN



Waste category indicators

Manufacturing Distribution Installation

Indicators A1A3 Ad A5

o1c4 GLOBAL

Hazardous waste disposed 6.03E+00 1.33E-04 4.41E-03 2.73E-01 3.11E-02 6.34E+00 0.00E+00
Non hazardous waste disposed 3.22E+00 2.96E-03 1.95E-02 1.49E+00 5.38E-04 4.73E+00 0.00E+00
Radioactive waste disposed 1.69E-03 2.34E-06 4.45E-06 3.51E-04 2.44E-07 2.05E-03 0.00E+00

End Of Life |

Output flow indicators

Manufacturing Distribution Installation End Of Life
A1-A3 A4 A5 B1-B7 c1-c4

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Indicators GLOBAL

Components for re-use 0.00E+00

Materials for energy recovery 2.13E-03 0.00E+00 6.02E-03 0.00E+00 3.10E-06 8.15E-03 0.00E+00

Materials for recycling 1.06E-02 0.00E+00 5.10E-02 0.00E+00 2.83E-05 6.16E-02 0.00E+00

Biogenic carbon content

Packaging Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
4.25E-02 2.38E-02 4.66E-03 7.10E-02
Biogenic carbon content (declared unit) 1.19E-02 9.01E-03 1.84E-03 2.28E-02
Biogenic carbon content (functional unit) 1.19E-02 9.01E-03 1.84E-03 2.28E-02
ADEME APESA/RECORD EN 16485
ano a Pap ood
0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

Drafting Rules PEP-PCR-ed4-2021 09 06
Registration N°: HAGE-01426-V01.01-EN

Supplemented by PSR-0005-ed3.1-2023 12 08
Verifier accreditation N°:  VH64 Information and reference documents: www.pep-ecopassport.org
Date of issue: 11-2025 Validity period: 5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal @ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Ill environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a
concrete application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01426-V01.01-EN



Appendix

[kg CO2 eq.]

Is for energy recovery - [kg]

Land use (PEF-LU)
active waste disposed - [kg]

Exported energy - [MJ]

(PEF-ADPe) - [kg Sb eq]

ity, freshwater (PEF-CTUe) - [CTUe]
Total primary energy - [MJ.

Acidification (PEF-AP) - [mole H+ eq.]

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Climate change-Fossil (PEF-GWPY) - [kg CO2 eq.]
Components for re-use - [kg]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophication, marine (PEF-Epm) - [kg N eq.]
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Hazardous waste disposed - [kg]

Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]
onising radiation, human health (PEF-IR) - [kg Bq U235 eq.]
Materials for recycling - [kg]

Net use of fresh water - [m3]

Non hazardous waste disposed - [kg]

Non renewable primary energy used as energy - [MJ]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]
Renewable primary energy used as energy - [MJ]
Renewable primary energy used as raw material - [MJ]
Resource use, fossils (PEF-ADP) - [MJ]
Resource use, minerals and metals
Total non renewable primary energy - [MJ]

Total renewable primary energy - [MJ]

Use of non renewable secondary fuels - [MJ]

Use of renewable secondary fuels - [MJ]

Use of secondary material - [kg]

Water use (PEF-WU) - [m3 eq.]

Non renewable primary energy used as raw material - [MJ]

Climate change-Land use and land use change (PEF-GWPIu)
Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC eq.]

oM
P NLNILT ORI 7ccoz| sewo| ssseas| soveeo| raseas| oooeeo| zsieuca| soros| siseas| ssaoa| osoeuoa| soseioo| asieos| sonsos| asreico| sosewo| ziseos| roseoa| sasea| szaeon| swieeor| ssteon| zsscor| riseor| viocor| reseas| 7| rzzeicn| rscia| roreas| rsaeia| rareuce| soseioo| ocoeian| ooogico| ocoeian| saocico
£<
=
2 < VANTATOINE 7rece| socewoo| s7reae| srsewoo| raseas| oooewo| 2sieene| sozeos| szzeas| sereoz| ovoeeon| sovewo| ssieos| voneon| ssseuso| soneoo| zwsees| voneoe| seree| saseoo| soreor| saren| zoseor| viseor| vizeoe| veseas| rrveo| vzzeon| rsvma| roreas| rsvea| razeuce| sooeo| osveian| soveoo| ocoeian| 1o
8
5 VWAL 7oz srrevon| soocoa| soseeon| 1aszos| ovomuon| 2aes| sozeos| ssagos| sssez| oooeeoo| soseuco| asieos| soseos| asveoo) soseuco| zrseos| rosco| szseos| sawo| osteeor| sareeor| asseor| vcor| riomca| 1eso| r7seicn| raio| rspeuce| roreos) rszeice| sareca] ssoeico| ooneeoo| aoosico| ocoeon| raomico
=
§ WZANTOT(L=ININ  +7<co2| s77euoo| seocoz| seseevo| 1aseon| oooeico| 2aesz| aceeos| arseos| assece| ooowco| soseeoo| asreos| soseos| aseico| asmeeco| 2meos| 1osece| aaseaz| azaeeo| ssreen| sareon| 2seor| vssor| rroeor| 1somos| rracicn| szzeeco| razewa| 1oreca| 132e.cz) taren| ssseoo| oooeioo| oooeion| oooeco| raveoo
WLNTATOUNIN 77ecz| ssewco| arieoe) sseuco| raseos| oooewo| 2sieeca| soscos| szzeas| sescoa| osoeion| soseeoo| ssieos| sonos| ssseuco| soseoo| zrseas| roseoa| sarear| saseoo| ssreecr| sateon| zoscor| rrseor| rizco| reseos) 7| rzzeecn| rssewa| roreas| rsseia| rsoeuce| soogioo| ocoeuon| ooocioo| ocoeian| rareco
VANTATONIIR 7cecz| srrewo| sseaz| soveeo| raszas| oooeeoo| zsieuce| sozeos| swoeos| ssmece| aooeeco| sosewo| asieos| soseon| ssrewo| soseon| ziseos| rosece| saseon| szzecn| sareeon| serear| zsmeor| rwear| vioeoa| voveas| 7o rzzeico| 1ewe| rovees| 1szece| ravee| ssneon| ooomio| ovseion| vooewo| saveeon
c <t
S N OLOIERN socos| swseaz| ssocor| stomoz| asaos| ovomiso| esozor| riomor| sseos| rooeos| oooeon| rsspos| sasere| rioerof trseos| rsscos| oooeeon| ooewo| zereos| zosos| seseor| oooewo| ssrero| esaeio| szeeos| 2soo| 170mas| ooocoo| sosear| 1ragos| sssear| saseor| rrezas| oooeoo] aoosico| ocoeon| riseas
=
2 WZNTTCOTN M soccos| ssocoz| sogor| ssoeor| asazos| oooewco| ssoror| rioear| srseos| rooeos| oooeeoo| rsseos| wzses| nroetof 1rseos| 1sseos| ooewco| oove.co| zorees| 2seeas) soseor| oooeeoo| ssreo| sszetof szseos| zasos| 1roos| oooeico| ssscor| ruscos| soseor| soseor| r7se0s] oooeeoo| oooeoo| oooeoo| 1reeos
K7} WANGTLZIERI  soccos| ssoeor| rsocor| ssoman| asoos| osomion| osocor| rromar| osao| roomae| ooomoo| rssges| sasera| riomro| iseos| rsscs| ooneeoo| oooswo| zereos| zoscos| seseor| oooewo| ssreto) esaeiof szeeos| 2so| 17smas| ooosio| sosear| 1sagos| sssear| ssseor| rroeas| ooneoo| avosico| ocoeon) riseas
WINNEOTCT=IVI soccos| siseoz| vsoeor| ssseon| snzeos| oooeeoo| sseor| 1ocor| sscos| tooeas| oooeioo| rsseos| wzsere| vrseof nrseos| nsseos| oooeeoo| oovewco| 2ereas| 2sseas| ssseor| oooeioo| sereto| aszeo| azseos| zaseos| 1rseos| oooeico| saser| t1scon| ssseor| soseor| rrsecs| oooeeoo| oooeoo| oooeoo| 1reeos
VNTATOUNIN soccos| socoz| 1soeor| saocoa| sszeon| oooewo| osoear| vocor| arseos| soocos| osoeuco| 1sscos| azserz| viogof rrseos| 1ssos| ocoruco| oooeoo| zeres| zeseos| ssscor| oonewo| sreiof asuero sascos| asueon| vrocos| oooecn| sescor| rreeon| soscor| sosear| 1roos| ooweuon| ooocoo| ocorian| 1rseon
WZNTOTONIYI soccos| siomcz| 1s0mar| sisece| asceos| osoeeoo| ssoeon| nroeor| srseos| 1oveos| oovewco| 1sseos] saserz| tiomto) riseos| vsseos| oooeeoo| oooeoo| zereos| zosos| seseor| oovewco| serero| 4ssero| szeecs| 2seeos| r7seos| oooewo| ssseor| raos| ssseor| seseor] 1seas| oooeion| oooeion) wooeeon| 11secs
cw
P NI ONTERN 2 vreos| soocor| romeor| srocoa| sseero| ooomoo| ssuer| oaseor| srseos| ssaeos| ocomuo| asieos| rsscos| 2raeno| roreo| zuseor] soscos| swoeca| eaocor| roseoa| roseor| osoeucn| vorco| rzseos| 1aseor| asseos| osoroo| ocorico| roseor| sscs| raseor| soscor| osoeca| oooewo| ouoeucn| vooewo| sezecs
B
= WANTOTOTNII 2 7eot| roseor| roteon| emseoe| sseeof oooeeoo| ssseor| szseor| srueos| ssceor] oooeco| asteas| rsseos) 2rzero| votece| zaseos| sozeos| sroor| ssseos| 1aseor| roseor| ooveioo| roreos| raseoo) raseos| saseos| ssoeoo| oooewo| roseor| ssseos| roseor| soser| ssorar| oooeioo| oooesoo| woveeco| szecs
8
2 WANILZIER 2 rco| roseor| vorcor| amsean| ssiof osoeuon| ssiwor| szseor| sraos| ssseos| oooeoo| wsreos| rsseon| zrero| oreos| 2escos| sozeos| sovor| ssseor| roscor| roseor| oooewo| roreon| vasco| raseor] essoo| asomz| oooewo| rosear| seseoo| rosear| soseor| ssora| oooeoo| avosico| ooneoo| sozeas
WZANTOTO=IVI 2 vcos| 1oocor| roreor| orsear| sseero| oooeeno| ssseon| ozmeor| sraeos| ssros| oooewco| astcs| rsseos| 2vzero| rorece| 2useos| wozeos| stoeoo| ssseos| osor| roseor| oovewco| toreos| r2seos| raseos| wsseon| ssoece| oooewo| roseor| ssseos| roseor| soseor| ssoear| oooeion| oooeioo) oooeion| szecs
VLNTATOMENN 2 ireo:| roocor| oreon| orocoa| ssieto| oooewo| ssiear| sascor| arseos| ssocos| osoeucn| eacos| rsseos| 2ol rorece| 2ssor| soreos| sioeor| wsseos| roseoa| roscor| ooveoo| rorcos| aseos| rascos| ssseon| ssoco| oooecn| roscor| ssseon| roseor| aoseor| osoroa| ooveuon| ooocco| ocorean| sereon
WZNTOTONIYI - vcos| roocor| rotear| orsece| sseeto osoeeoo| seseor| ozmeor| srmeos| ssopos| oovewco| watees| rsseas| 2vzero) rotece| zuseos| soreos| sroeor| ssseos| roseor| roseor| ooveico| toreos| raseos| raseos| wsseos| ssoeoe| oooewo| roseor| ssseos| roseor| soseor| ssoear| oooeion| oooeion) wooeion| szecs
QN
T RNIOLOIIER oz osreuco| 2sacon| ssseuso| oooeeoo| ooomuso| 1asen| zsreos| soseos| sroroa| ooneon| arscor| nzzeos| zsscos| raseect| 2eccor| osoeuon| ooogoo| t7sece| saskeco| zsreece| oooeeoo| azses| soseor| racc| ssieos| ssseeor| ooneon| zsrewe| szveon| zsrewa| 2eceuca| ssseeor| oomeuon| ooogco| ocoeuan| 7aseor
j B
o VWANIOTANE s vrecz| sarewo| 21smar| osseoo| ooomeso| oooeeoo| resmeon| 2sreos| soses| rueoe| ooomwo| 2rseor| rezeos| zeseon| raveron| zezeor| vovmwo| oueeico| 1reeoa| raseuco| asrewa| oooeuto| szon| sosear| 1seeoa| ssreas| seen| avomo| 2ewe| saomas| 2svece| zszee| seseon| ooomo| ovoeson| voomo| rasean
WWVANTATLZIERIN s vcoz osreeon| 21scor| osseuon| oooeo| osoeuan| sasgeon| zsres| oseos| aromaz| oooeeoo| 2rseer| 1zaeos| zsocs| 12| zercor| ooneeoo| oooswco| 7sece| raswo| 2sreuca| vooewo| szseon| coscor| vozeca| ssios| ssseuot| oooewo| zsrence| saogoo| zsreece| zoaeca| ssseean| oooeeco] avoeico| ocoewo rasean
WAL s vreoe oerean| 2imcon| osseeon| ooomwo| osoeuao| 1| zsreos| ooneos| aroeae| oooeoo| zrsear| 1z2eon| zsveas| vasen| zszeor| ooneon| coomeco| 7seae| rasewo| srevce| voomwo| szseon| soseor| rszece| soeos| ssseior| voveo| 2srence| saneos| zsrence| zozea| sssean| oonewo| aomo| oonewo 7sear
VNTATOUNIN s i7ecz| ssreeco| 2tseon| sssteoo| oooeeoo| ooowo| 1aseeon| 2ocos| soseas| srocoa| osoeuco| 2rcor| rzzeos| 2sseos| raveusn| 2sagon| ocoeuso| oooeeoo| t7sear| 1aseco] zsreeca| ooveoo| aascos| soseor| rsacoa| ssieon] ssseeor| oooeecn| zsrew| szoeon| zsrewa| 2sveuca| ssseeor| ooeuon| ooocco| ocoeuan| 7eseor
VAN s ez osrean| ziscon| osseeoo| oooewo| ovoeeoo| 1esmeon| 2s7ecs| soeos| sroeae| oovewo| z7sear| 1200 zsomas| vasen| zszeor| voneoo| aoomwco| 7seae| rasewco| 2srevce| coomwo| szseon| soseor| rozece| soeos| ssseinn| vovmo| 2sresce| saneos| zsrene| zozewa| ssseean| ooneoo| aomo| oonewo 7sear
O <
E=S N DT TOIERI  ssocor| rsscor| ouseos| rsscor| sasero| ooowo| soseeoo| zaocos| rrzeas| 12scos| osoeecn| soa| avoeos| eaoo| rozeas| 2osor| swoeos| 2sseos| ssoeor| ssseo| rszeeco| oovewo| 122es| saseos| ssecos| aseor| 1izcor| oooeecn| rsaewo| ssseor| rsewo| 7seuon| 11con| ooveuon| ooocco| ocoeuan| 2isen
T
=
50 WZANTOTOTNII ssscct| rsseor| soseas| vsseon| sosetof oooeeoo| soseevo| zaoeos| 112cos| 12se0s| ooveeco| sviece| 2vsecs| wzeeon| rozeos| zeseor| stoeos| zsseos| soseor| sseos| 1sceico| oooeeoo| 122e0n| ssseon) ssieos| zuseor| vrzeor| oooeo| 1szeeoo| saseor| rsceico| 170e.a0| 112601] oooeioo| wooeson| ooveeco| zrseeon
el
2 WAL ssocos| rsseor| soscos| rsseor| soseof osoeuon| soseeoo| zaomcs| 1iaos| r2smas| oooeoo| sriee| rseos| wzecos| razeos| zoscor| stoeos| zsscos| seseor| ssscos| rsaecn| oooewo| rzzeon| sascos| sseeor] 2uscor| trzeor| oooswo| rszeucn| ssseor| rszeean| srso| t12601| oooeeoo] avoeico| ooneeoo| zrseion
WZANTOTII ssscos| 1oscor| soscas| rssear| sosero] oooeeoo| soseeoo| zaoeoo| rroeos| zseos| ooveeoo| sareor| 2oeos| 4zeeos| rozeas| zoseor| sioeos| zsseos| soseor| ssueos| szeeo| oooeeoo| 122es| saseos| ssseos] 2usear| rizeor| ooveeoo| rezeeco| asseor| sszeo| 173e0| 12e01| oooeco| coveico| vooeian| 2iseian
VNTATOMNIN ssoco:| rsseor| soseos| rsscor| sasero| oooewo| soseeno| zaocos| rrzeas| 12seos| osoeeco| seo| avseos| eaoo| rozeas| 2osor| swoeos| 2sseos| ssoeor| ssseos| rszeeco| ooveoo| 122es| ssseos| ssecos| 2sseor| 11zeor| oooeecn| rorewo| ssseor| rswo| 7seuon| 11c01| oomeuon| oootco| ocoeuan| 2iseen
WZNTOTONVIYI ssocos| roseor| soseas| rssear| soseo oooeeoo| soseeoo| zaoeos| rzzos| 12seos| oovewco| sriecz| 21oeos| 4zeeos) rozecs| zoseor| svoeoo| zsseos| soseor| saseos| 1sceico| ooveoo| 122608 ssseos| ssieas| 2aaeor| vrzeor| onewo| 1ezeeco| ssseor| 1szesco| 17se00| 112601] oooeion| oooeson) woveeco| zrseeon
VNTOTONTER - <seor| 1oe0| sssear| 1eae01| ovoeuso| oooeeoo| zssear| 2asc0s| soseos| arseos| oooeeco| ooneeoo| sssero| 2sse0s| 10| soeuon| oooeo| ouoeucn| wson| ouoeuon| seseor| oooeuco| sreoo| sroeas| azeos| ocoeeoo| ssseor| avoeeco| asseor| riseas| asseor| rasewco| sseor| oooewo| ovoeucn| ooocco 1sseecn
k)
= WZNEOT{TNIIN < socos| 1201 ssocas| 162001 aoomsto| oooeioo] zsscar| -22ec0s| soscos| -a7acos| acocwoo| oouesoo| saveof 2aucos| 4o saneion| ooocroo| oseeion| wsieor| oomeion| oseor| oomesoa| 300 nt0man| oeos| ooocian| vsseor| acocian| osseor| t1scos| ssseor| ovciof -asseor| ooociof oooeson| ooocoo sueror
o
= \WVANTATLZIERI < ocos| roseor| soscos| rozeor| oooeo| osoeuon| 2sseor| 2zeeas| soseos| arseae| oooeeoo| oooeeso| ssseo| 2sseos| 1s7eos| soeeco| ooneeoo| ooowo| 4aseor| oooewo| ssseor| vooewo| 4srecs| sroeos| sozeos| ooooo| sssear| vootoo| sssear| rseos| sssear| vaseo| ssoear| ooneoo| avoeico| oonewco| rsson
WANEOLQEINI < iocon| sseor| soseon| ezear| ooomwo| osoeuao| 2smeon| 2oeeos| soseos| arseas| oooeoo| ooomae| 3o 2sseas| s7e0s| ssomco| ooneeon| coomeoo| 4sieor| coomwo| ssseor| cooewoo| 4sreos| somo| sozeas| voewo| sssear| voveo| sssear| viseos| sssear| vaseoo| sssear| oonewo| acomo| oonewo| ssmian
VNTATOUNIN - ssco:| -tosc0r| ssseos| 1oe01| oooeeoo| ooowo| 2ssear| 2ascos| soseos| srseos| osseuon| oooeeo| assero| 2sagoo| rsreas| someoo| oooeuso| oooeeoo| wsaear| ooveeoo| ssser| ooveeco| 4sreos| atoeos| 4ozeos| ooneecn| soseor| oooeecn| soseor| rrseon| ssson| sseuon| ssoron| oomeucn| oootoo| ocoeuan| 1ssen
VAN < iomoa| sseon| soseon| ezear| oooewo| ovoeeoo| 2sseon| 2oceos| sosos| a7seas| oooeoo| oooeuo| 3o 2sseas| 1e7e0s| ssomoo| ooneioo| coomeco| saieor| coomwco| ssseor| coomwoo| 4sreos| smo| sozeas| oooewo| sssear| voveo| sssear| rseos| sssear| vaseo| ssear| ooneoo| acomo| oonewo| sssmin

PEP ecopassport 5/5 HAGE-01426-V01.01-EN



